Tfora

(SIYTT - 13) (TP 3R °TE)
(PET - VII)
gyTael 13.1
AR 1:
FrafiRaa & A 1a Sifv:
(i) 26 (ii) 93 (iii) 112 (iv) 5+
3R 1:
(i) 26=2Xx2X2x2x2X2=64 (i) 93=9x9x9=729
(iii) 112=11x11=121 (iv) 54=5x5x5x5=625
A 2:
fafafed & uraiea ©u § oaad i
(i) 6X6x6x6 (i) rxt
(iii) bxbxbxb (iv) 5x5x7x7x7
W) 2x2xaxa (vi) axaxaxcxexexexd
3R 2:
(i) 6X6X6xX6=6% (i)  txt=r
(iii) bxbxbxb=1b" (iv) 5x5x7x7x7=52x73
%) 2x2xaxa=2"xa’ (vi) axaxaxcxcxcxexd=a xc'xd
A 3:
Fafefea demslt & 9 ude & urdierd Yobad § o HIe:
(i) 512 (ii) 343 (iii) 729 (iv) 3125
3 3:
) 512 2 512
2 256
512=2x2x2x2x2x2xPx2%2=2? 2 128
2 64
2 32
2 16
2 8
2 4
2 2
1
(ii) 343 -
7 49
343=7x7x7=73 - 7
1
3 729
3 243
(iii) 729 3 81
729=3x3x3x3x3x3=36 3 27
3 9
3 3
1




(iv)

A3 4:

3125
3125=5x5%x5%x5x5

fFrafefed & | uds wr F, w6l ¥t Wya g1, 931 Fe % ugEi:

(1

(iv)
W 4

0]

(i)

(iii)

(iv)

V)

HRA5:

437734 (i) 537m3s
1002 7 2100 (v) 21077102

43=4x4x4=64
34=3x3x3x3=81
ife 64 <81

3d:;, 43 3R 34 H 3+TS B

53=5x5x5=125
35=3x3x3x3x3=243
Fqifdp, 125 <243

3, 53 3R 35T 35S Bl

28=2x2x2x2x2x%x2x2x2IE256
82=8x8=64

i, 256 > 64

3, 28 3R 82 H 28 9 B

1002=100x 100 =10,000

2100=2 x 2X2X2X2X .o il TTX L, s2005

i, 10,000 < 16,384 X ..ov.. X 2
3, 1002 3R 2100 F 2100 S} |

(iii)

210 =2x2x2x2x2x2%x2%x2%x2%x2=1,024

102=10x 10 = 100
FifP, 1,024 > 100
3, 210 3R 102 H 210§ B

5 3125
5 625
5 125
5 25
5 5

1

2897 82
..... X2

fafoRed o @ Ul &1 S ST UFE S| &t °ldl & UG & &0 § odd S|
(ii) 405 (iii) 540

(i) 648
3TN St
(1

648 =23 x 34

(iv) 3,600

WWWWwNNDN

648
324
162
81
27
9

3

1




(i)  405=5x3* 5 405
3 81
3 27
2 540 3 9
2 270 - i
3 135
(iii) 540=22x33x5 3 45 2 3600
: 12 2 1800
5 2 900
2 450
3 225
3 75
(iv) 3,600 =2%x32x52 5 25
3 5
H2H 6: 1
WA PIIT:
(i) 2x103 (i) 72x22 (iii) 23x5
(iv) 3x44 ) 0x 102 (vi) 5%2x33
(vii)  24x32 (viii) 32x10*
3 6:
(i)2x103=2x10x 10 x 10 = 2,000 (i) 72x22=7x7x2x2=196
(iii)23x5=2x2x2x5=40 (iv)3x4*=3x4x4x4x4=768
(v)0x102=0x10x10=0 (vi)53x33=5x5x3x3x3=675
(vii) 24x32=2x2x2x2x3x3=144 (viii) 32x104=3x3x10x10x10x10=90,000
HARAT:
TR DI
(@) (-4)° (ii) (-3)x(-2)’ (i) (-3)" x(-5)’ (iv) (-2)'x(~10)’
3R 7:
O (4 = () (#)x(4) =
() (-3)x(-2)" =(=3)x(-2)x( 2) (-2)=24
Gii)  (-3)"x(=5)" =(-3)x(-3)x(-5)x(-5)=225
()  (<2)'x(=10)" =(=2)x(=2)x(=2)x(~10)x (~10)x(-10)
M3 8:
Fafefea demsi ot gamn Sif:
(i) 2.7x1012 1.5 x 108 (i) 4x10143x10V7
3T 8:
(M) 2.7x1012 3R 1.5x 108
10 & Ul 1 JaT B R, 2.7x1012>1.5x 108

(i) 4x1014 3R 3x1017
10 & 9Tl 1 Ga A R, 4x101<3x10v7




Tfora

ln+n

(IV) 7.r ><7l - 7.\'+2 . a xa

(31ATY - 13) (TS 3R UTe)
(P& - Vi)
gyradt 13.2
M 1:
HTdTeh! & R &1 TR IR §U, TR BT 3R IR $I Ordidrg w4 § ffae:
0] 32x34x 38 (ii) 615 = 610
(iii) a*xa’ (iv) 7'x7°
v) (542)24+ 53 (vi) 25x55
(vii)  a'xb (viii) (33
(ix) (220 + 215)x 23 (x) 8-=8
3R 1:
(i) 32 353 = 3(2+4+s) =3l o g = a"””]
(il] 6[5 +6]() = 6I5—10 = 65 ", ”]
(lll) (13 ><a2 = (13+2 = as ca"xa" m+n:]

M (B) +5=525 =55 - (@) :a"'*"J

2 am ;an =am—n:|

: a"xb™ =(a><b)m}

= 5(v—3 :5.‘
(vi) Pt =(2x5) =

(vii) a* xb* =(axb)' s a"xb" =(ax b)'"}

n
. (am) :amxn:I

~ am +a" =am*l':|

=t am X[I” :am-m]

(Viii) (34)3 = 3¥3 _32
(ix) (220 +215))( 23 = (220-15 )ng
= 253 =953 _ o8

. . . . . . . . B B . B
. . . . . B .
h

(X) 8: +82 - 8:—2 - am +(l" - ankn]
M3 2:
frafafed # @ Ud® &) IRA S$ gidied =0 J oJad il
3 a4
0 = 3X 33; - (i) [(52)3 "54}57
X
3x7*x11
iii 25*+5° iv _
(i) (i) 21x11
37 . 0 0 0
v) W (vi) 2°+3" +4
<3
(vii) 2°x3°x4° (viii) (3“ +2° ) x5°
: 2!xa’
(ix) 4 xa’ [ }
. 4 xa'b’ i
(xi) Trdh (xii) (2 x 2)




3TN 2:
(1

(i)

(iii)

(iv)

V)

(vi)

(vii)

(viii)

(ix)

)

2’ x3*x4 B 28 x3*x2? _ o2 gt

3x32 3x2°  3x2°
5 4

=2"%x3" = 1x3' =3’

[(52 ) x5“]+57 =[5°x5"]+5"

- [5644:|+57 :510 +57

= 5I()—7 =53

25" +5° =(5) +5° =58 +5°
= 58—3 =55
3Ix7Ax118 _ 3x7*x118

2111 3x7xIP
= 3 x7'x11° = 7&11R

3’ 373
3 %3 = 3+ =3_7
=37 =3 =]

2°4+3°+4" =1+1+1=3
2°%x3"x4" =1x1x1=1
(3°+2°)x5° =(1+1)x1=2x1=2

2 xa’ 2 xa’ 2 xa’

Pxa’ 21)3)([,3 2P

= ¥ % g™ =2% xig”

— 3I—I x 72—1 xl 18—3

m no__ _mtn

Sa xXa =a :]

[,., am +au :amfn:|




4 xap’

O

= Ixa’xb=a’b

@i)  (2x2) =(2) =(2!)

=45—5xa8—5 xb3—2 =40><a3xb

(i)
(iv)

I:... am +all =alll*ll:|

[ a’ = ]]

|:.., am Xa” =am+n:]

23> 52
30=(1000)°

— 24x2 =28
M3 3:
a3y o FafelEd ou= 9 § a1 3R U7 39 IR &1 SR H e
(i) 10 x 1011 = 10011
(i)  23x32=65
3R 3:
(1) 10x10" =100"

L.HS. 10" =10"

Fifd, L.H.S. # RH.S.

3, U8 HYF AT B
(i) 2 552

LHS. 2°=8

Fifes, L.H.S., RH.S. T FST T8l gl

3k, T8 HYT 3T g
(iii) P sF =6

LHS. 2°x3*=8x9=72

Fifd, L.H.S. # RH.S.

3(d:, I8 HYT 3T g
(v)  3°=(1000)’

LHS. 3" =1

Fqife, L.H.S. = R.H.S.
3(c:, T8 HUT I &

M3 4:

IR

RHS. (10°)' =10®

RHS. 5°=25

RHS. 6°=7,776

RH.S. (1000)' =1

FafRad o 9 Ud &1 Sad YT UFE S| ST °Idl & UG & €U 8 Zad HITorg:

(i) 108 x 192

(i)  729x 64
3N 4:

(i) 108 x 192

108x 192 = (22 ><3-’)><(26 x3)
= 22+(v x33+l

= 28 x3*

(i)
(iv)

270
768

108

WWwwhN N
[\

= WO

WINDNNNNN

192
96
48
24
12




(i) 270

270 =2x3°x5 2 270
3 135
3 45
3 15
5 5
1
3 729|[ 2 64
3 243 || 2 32
X =32 3 27 2 8
3 9| 2 4
3 3] 2 2
1. 1
2 768
2 384
2 192
(iv) 768 2 96
768 =2'x3 2 48
2 24
2 12
2 6
X9 5 . 3
; 1
IR DI
, (25)2”3 o 2557 xf* o 3 x10°x25
(@ o (i) 2= (i) ————
8 x7 10" x¢ 5'x6
IR 5:
0 () x7  2x7
8 x7 _(23)3x7
10 3
=29x7 =2 %7 =2x7" =2x49=98
2" x7
(i) 25x5°x1* 5 x5’ x1*
10°xr* (5x2) xr*
52+2 xt8—4 54 x t4 54ﬁ3 xt4 5t4
TTPx3?  2x5 2 8
(i) Fx10°x25 _ 3 x(2x5) x5

5'x6’ 5 x(2x3)°

_ 3 x2° x5 x5° _ 3 x2° x5 _ 3P x2° x5’

5" x2°x3’

T x2x3 5 x2°x3

=2"%x3"%x5"=1x1x1=1

= 2554355 555




Tfora

ACTITI 1 2 (SITATSE 2T ST
(ST - 13) (YUTdTd 11

(P& - vII) o

TTaat 13.3
M3 1:
Fofafea gemsi @ uaia w0 # fafau:
279404, 3006194, 2806196, 120719, 20068
I 1:

(i) 2,79,404 =2,00,000 + 70,000 + 9,000 + 400 + 00 + 4
=2x100000+7x10000+9x1000+4x100+0x10+4x1
=2x10° +7x10* +9x10° +4x10> +0x10' +4 x10°

(ii) 30,06,194 =30,00,000+ 0+ 0 + 6,000 + 100 + 90 + 4
=3x1000000+0x100000+0x10000+6x1000+1x100+9x10+4x1
=3x10°+0x10° +0x10* +6x10* +1x10> +9x10+4x10°"

(iii) 28,06,196 =20,00,000 + 8,00,000 + 0 + 6,000 + 100 + 90 + 6
=2x1000000+8x 100000+ 0x10000+6x1000+1x100+9x10+6x1
= 2x10°+8x10° +0x10* +6x10° +1x10> +9x10+6x10"

(iv) ,20,719 =1,00,000 + 20,000 + 0 + 700 + 10 + 9
=1x100000+2x10000+0x1000+7x100+1x10+9x1
= 1x10° +2x10* +0x10* +7x10> +1x10' +9x10°

(v) 20,068 =20,000 + 00 + 00 + 60 + 8
=2x10000+0x1000+0x100+6x10+8x1
= 2x10* +0x10* +0x10> +6x10' +8x10°

AR 2:
Frofafad vefia = & @ vde ¥ forg we grd S

(@) 8x10*+6x103+0x102+4x101+5x100°

(b)4x105+5x103+3x10%2+2x100

() 3x104+7x102+5x100°

(d)9x105+2x102+3x10!

3TN 2:

(@) 8x104+6x103+0x102+4x101+5x100
=8x10000+6x1000+0x100+4x10+5x1
=80000+6000+0+40+5
= 86,045

(b) 4x105+5x103+3x102+2x100
=4x100000+0x10000+5x1000+3x100+0x10+2x1
=400000+ 0+ 5000+ 3000+0+2
=4,05,302

(o) 3x104+7x102+5x10°
=3x10000+0x1000+7x100+0x10+5x1
=30000+0+700+0+5
=30,705

(d) 9x105+2x102+3x10!
=9x 100000+ 0x10000+0x1000+2x100+3x10+0x1
=900000+0+0+200+30+0
=9,00,230




M= 3:

Frofafad e @ AFe U § wad Sifo:
(i) 5,00,00,000 (i)  70,00,000
(iii) 3,18,65,00,000 (iv)  3,90,878
v) 39087.8 (vi) 3908.78
3N 3¢
0] 5,00,00,000 =5x1,00,00,000 = 5x10’
(ii) 70,00,000 =7x10,00,000 = 7x10°
(iii) 3,18,65,00,000 =31865x 100000
=3.1865 x 10000 x 100000 = 3.1865x10°
(iv) 3,90,878 =3.90878 x 100000 = 3.90878x10°
) 39087.8 =3.90878 x 10000 = 3.90878x10*
(vi) 3908.78 =3.90878 x 1000 = 3.90878x 10’
M3 4:

fafoRad syl & udhe 811 arell (31 aTa) Senedl &1 AM® U § oFad Sifo|
(a) Tt SR d5H1 & & 3T g 384,000,000 m B
(b) Frafa =i & uesT=r $1 =1 (@1 3T) 300,000,000 m/s Bl
(c) 9t ST 1,27,56,000 m B
(d) 9 &7 =R 1,400,000,000 m &
(e) TS SATHTRATT H Sia 100,000,000,0000 TR §
(f) fay dsa (@ IR H8a) 12,000,000,000 T GRFT Mehferd faar a1 8|

(g) SR & Hel ¥ &1 g8 300,000,000,000,000,000,000 m 3T ferd & TS B
(h) 1.8 g YR aTelt Ut &t T §¢ H 60,230,000,000,000,000,000,000 U] (molecules) B &

(i) gt ¥ 1,353,000,000 km3 T4% od & |
(j) A 2001 H YR P SHEEAT 1,027,000.000 At

I 4:
(a) G SR T & ofa BT g = 384,000,000 m
=384 x 1000000 m
=3.84x 100 x 1000000
=3.84x10° m
(b) Fafa RFE Ay & 1@ = 300,000,000 m/s
=3x 100000000 m/s
=3x10* m/s
(c) Tt &1 =1,27,56,000 m
=12756x 1000 m

=1.2756 x 10000 x 1000 m
=1.2756x10" m

(d) {(!:fa?ram =1,400,000,000 m
=14x100,000,000 m
=1.4x10x 100,000,000 m
=1.4x10° m




(€) TS SATHTRAAT H e dr = 100,000,000,000
=1x100,000,000,000
1x10"

(f) fay Tea (@R He@) &t 3y

12,000,000,000 years

12 x1000,000,000 years
=1.2x10x1000,000,000 years
=1.2x10" years

(g) MFPRAMF AT IFF HI g =300,000,000,000,000,000,000 m
=3x100,000,000,000,000,000,000 m
=3x10" m

(h) 1.8 g ¥R aTelt Ut &1 T §g A 9] = 60,230,000,000,000,000,000,000
= 6023 x 10,000,000,000,000,000,000
= 6.023 x 1000 x 10,000,000,000,000,000,000
= 6.023x102

(i) 9eadt & s o =1,353,000,000 km3
=1,353 x 1000000 km?
=1.353 x 1000 x 1000,000 km?3
= 1.353x10° km3

() A 2001 A HRA PTG =1,027,000,000
=1027 x 1000000
=1.027 x 1000 x 1000000
= 1.027x10°




